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1) Which of the following is the largest source of water pollution in major rivers of India?

frrafaf@a & & Fla sara  wgw afeat F sra yquor #71 Fad TIT AT 2
[Question ID = 13673]

1. Agricultural run off / & sgTa [Option ID = 24690]

2. Religious practices / &mfdie w2m3it [Option ID = 24692]

3. Untreated sewage / 3ie9dTiRel FdsT [Option ID = 24689]

4. Unregulated small scale Industries / 31E3TiSd ofg 3€IaT [Option ID = 24691]

Correct Answer :-
« Untreated sewage / 3ie9dTRd HdsT [Option ID = 24689]

2) Which one of the following is not the tool of good governance?

frafaf@a & & Fla a1 garwer 1 39aor 781 52
[Question ID = 13685]

1. Judicial Activism / =a1faes afshadr [Option ID = 24740]

2. Citizens' Charter / ITeTR@ @1 [Option ID = 24738]

3. Social Auditing / @IS 379h&70T [Option ID = 24739]

4. Right to information / =T & 3{f&R [Option ID = 24737]

Correct Answer :-
+ Right to information / =TT & 3{f&%R [Option ID = 24737]

3) Which one is correct about E — BASTA.

F-aEdTS T Pl 71 L
[Question ID = 13654]

1. Its Digital India initiative / I f3fSeer 331 fir uger &1 [Option ID = 24613]

2. Its provide study material / I8 37Tt ATHAT YTl I & [Option ID = 24614]

3. Collaborative platform for book publisher, School teacher and students. / TEdsh HehIRIeh, Fehel foreter 3iR
SHET & TIT TgAecAs Hd| [Option ID = 24615]

4, All above are correct. / 3TR1Fd @t TEY &1 [Option ID = 24616]

Correct Answer :-
« Its Digital India initiative / g 3foteer sf3am fir uger &1 [Option ID = 24613]



Common salt found in sea water is called as-

HHE & Il F TRIT AT qTET 1A FTHE Y FeT 1T §- [Question ID = 13661]

1. PotatiumChloride / 9refea# FeiRTss [Option ID = 24643]

2. Calcium carbonate / $ferrIa Frefae [Option ID = 24642]
3. Magnesiumsulphate / H3ATI# Fethe [Option ID = 24644]
4, Sodium chloride / T3 FRTES [Option ID = 24641]

Correct Answer :-

« Sodium chloride / TIf3T# FR™S3 [Option ID = 24641]

5) Which was the first newspaper published in India?

HRT & YRR gle aTelT UgelT ATIR I HisT IT 41? [Question ID = 13626]

1. Bengal gazette / §9TTel 31T [Option ID = 24502]

2. Pune chronicle / qUY ifeteher [Option ID = 24503]
3. Indian gazette / IR TST9F [Option ID = 24501]
4. Indian capsule / Sm?ﬁ'&r%\ma\?r [Option ID = 24504]

Correct Answer :-
« Indian gazette / AT TST9T [Option ID = 24501]

6) Information, a combination of graphics, text, sound, video and animation is called

=T, Miea, a5, eafar, HfFAY 3 weharere 1 va T2 FeT 1ar ¥ [Question ID = 13682]

1. Multimedia / #e<IAT3AT [Option ID = 24727]

2. Multiprocess / #FEIIAA [Option ID = 24728]

3. Multiprogramme / HeE9IRITHF [Option ID = 24725]
4. Multifacet / FeEthaic [Option ID = 24726]

Correct Answer :-
 Multiprogramme / #EWRATAA [Option ID = 24725]

7) HIV Stands for

T3S FT WaIqoT B
[Question ID = 13678]

1. Human Immunodeficiency Virus / EZ#He $¥aA1S i AGH ara& [Option ID = 24710]
2. Human Immuno Virus / Eg#el 3= arad [Option ID = 24709]

3. Human Internal Virus / g#eT $e¥aTel arTH [Option ID = 24711]

4. None of these / =137 & IS =T& [Option ID = 24712]

Correct Answer :-
e Human Immuno Virus / R@Héﬂﬁm [Option ID = 24709]

8) Millennium Development Goals were

fAafaws 3gevde aew & [Question ID = 13680]

1. 17 / 17 [Option ID = 24719]
2.12 / 12 [Option ID = 24718]



3. 20 / 20 [Option ID = 24720]
4. 8 / 8 [Option ID = 24717]

Correct Answer :-
e 8/ 8 [Option ID = 24717]

9) DDU-GKY is a programmes of

- 1Har$ T vF FRFA ¥ [Question ID = 13701]

1. Skill training / @ierer IfRA&T0T [Option ID = 24801]

2. Housing / 3mard [Option ID = 24802]

3. Water conservation / STef T&ToT [Option ID = 24804]
4, Nutrition / 9I5oT [Option ID = 24803]

Correct Answer :-
« Skill training / ierer 9fRreToT [Option ID = 24801]

10) Mumbai Attack of 2008 by terrorists is also known as

HTEFATGET GaRT 2008 F HTE gA 1 #ff F1aA7 S71aT § [Question ID = 13704]

1. 26/11 / 26/11 [Option ID = 24815]
2.13/11/ 13/11 [Option ID = 24816]
3.9/11 / 9/11 [Option ID = 24813]

4.20/11 / 20/11 [Option ID = 24814]

Correct Answer :-
e 9/11/9/11 [Option ID = 24813]

11) Which among the following is a direct tax?

farafaf@a & ¥ wla a1 yegar #T 82 [Question ID = 13634]

1. Wealth Tax / &< &Y [Option ID = 24533]

2. Sales Tax / foshT &Y [Option ID = 24535]

3. Entertainment Tax / #ailisTeT & [Option ID = 24536]
4. Excise Tax / TerdISST ¢ [Option ID = 24534]

Correct Answer :-
o Wealth Tax / &eT & [Option ID = 24533]

12) Which among the following was the first Woman Nobel Laureate?

frafaf@a & & Fla ggelt Afeer e [wEFR fSar 1?2 [Question ID = 13692]

1. Irene Joliot Curie / 31T Sifelte & [Option ID = 24767]
2. Marie Curie / #1 &1 [Option ID = 24765]

3. Aung San Suukyi / 31T @TeT g [Option ID = 24768]

4, Dorothy Hodgkins / SRt gisiferear [Option ID = 24766]

Correct Answer :-
e Marie Curie / 3% ER@ [Option ID = 24765]



Select grammatically correct answers from the given options.
.............. of Cholera was reported in city of alpha.’

T 717 el & @ sATHOTd T & FEY Scal HT IIT HLl
.............. 3T ATT H g1 Y = el o

[Question ID = 13707]

1. Spread / %I [Option ID = 24826]
2. Break out / 98 [Option ID = 24827]
3. Break / fsrar34T [Option ID = 24825]
4, Out break / 9= [Option ID = 24828]

Correct Answer :-
« Break / f31841T [Option ID = 24825]

14) Vocational education focused on

SATqHTAF R8T ea1e Hfga Far &
[Question ID = 13690]

1. Skill improvement / @lerel &R [Option ID = 24759]

2. Knowledge improvement / JTeT ﬁ'gﬂ'l'{ [Option ID = 24757]

3. Health improvement / W%‘Jﬁgrﬂﬂ [Option ID = 24760]

4. Life status improvement / SfiaeT &r f&ufer & gurR [Option ID = 24758]

Correct Answer :-
« Knowledge improvement / JTeT & GUR [Option ID = 24757]

15) Chief Minister of Arunachal Pradesh is

ITOTEI Y& & FETHA ¢ [Question ID = 13703]

1. KonardSangama / @1=IT$ TaTaT [Option ID = 24811]

2. SarbanandSonowal / @&TeE Elsitarer [Option ID = 24810]
3. Biplab Das / favere & [Option ID = 24812]

4. Pemakhandu / 9#T @ig [Option ID = 24809]

Correct Answer :-
+ PemaKhandu / 9&T @rg [Option ID = 24809]

16) ‘Chauraha’ is a programme of literacy through

"GRIET WI&AT T U FIHA ¢ [Question ID = 13639]

1. Book Primer / g 9Ig#Y [Option ID = 24555]
2. TV social / €rdT @S [Option ID = 24556]
3. Broad sheet / 83 efic [Option ID = 24554]

4, Radio / X33 [Option ID = 24553]

Correct Answer :-
« Radio / ¥f33T [Option ID = 24553]



Which continent consists largest population density-

frw AgTedIv # T 931 FTAHEAT g §- [Question ID = 13660]

1. Africa / 3TshrerT [Option ID = 24637]

2. Asia / Tfrar [Option ID = 24639]

3. Europe / JU9 [Option ID = 24640]

4, Australia / 3iTEeferar [Option ID = 24638]

Correct Answer :-
o Africa / 3ThrepT [Option ID = 24637]

18) Identify incorrect statement about the parliament of India.

R & THE & IR A HIeT-AT HUT FE AT §2?
[Question ID = 13656]

1. Financial control by parliament / @8¢ garT fdedi™ f=301 [Option ID = 24623]

2. Its consists of the LokSabha and RajyaSabha / T8 alieh@etT 31X Toaga enfder & [Option ID = 24621]

3. The normal term of the LokSabha is five year. / ST T TTATT HIATd I aY T gidT &1 [Option ID =
24624]

4. The main function of Parliament is making law. / &&e T H&g % fafer - f3#A0T 1 [Option ID = 24622]

Correct Answer :-
« Its consists of the LokSabha and RajyaSabha / s&® aitergat 31X Teager enfAer & [Option ID = 24621]

19) Ecology deals with

R fRufadr &1 TwR &
[Question ID = 13694]

1. Birds Sanctuary / 9&fr 3110y [Option ID = 24773]

2. Tiger Project in Sunderban / FessT # STEl RATST=AT [Option ID = 24774]

3. Relation between organisms and their environment / Sat 3R 3e% 9ATaRoT & & T« [Option ID =
24775]

4. Tissue Culture / Fde HatisT [Option ID = 24776]

Correct Answer :-
« Birds Sanctuary / 9&fr 379U [Option ID = 24773]

20) The most comprehensive source of population data is?

SAEEAT 3T T a4 9% Aid §? [Question ID = 13718]

1. Decadal Census / 3HISel STAT0TT [Option ID = 24869]

2. Demographic Health surveys / SITHETTEIRIT FAELT FA&T0T [Option ID = 24871]
3. National Family Health Surveys / I¢1r aR@R TareeT Td&ToT [Option ID = 24872]
4. National sample surveys / IS¢ FHAT HA&T0T [Option ID = 24870]

Correct Answer :-
« Decadal Census / 3&TSel STeT910T=T [Option ID = 24869]



The most significant impact of Volcanic eruption has been felt in the form of which of the
following?

SaraTE RFeie F1 7@ Agcaqor yerra Rrafaf@d 7 @ frad w7 #F #gqy B 7w §2 [Question ID =
13672]

1. Sinking in islands / gddt # g&=T [Option ID = 24686]

2. Loss of vegetation / aeT&afa &1 ieh Tl [Option ID = 24687]
3. Change in weather / #1503 & sgartd [Option ID = 24685]

4. Extinction of animals / TR[3it @ faeiigeT [Option ID = 24688]

Correct Answer :-
« Change in weather / HI\# & sSca@ [Option ID = 24685]

22) By the constitution in India at the state level, the executive power of the state is vested in?

HRAT FRAUTET g@RT Uo7 FaX W T A FESRT AfFa fFae Afga 82 [Question ID = 13627]

1. Chief Minister / ﬂ'@zﬂq‘:ﬁ [Option ID = 24505]

2. Council of ministers / #TUR®E [Option ID = 24506]

3. Governor / 3@+ [Option ID = 24507]

4, Chief justice of the high court / 3T =ITTeT & qEY Fgraredter [Option ID = 24508]

Correct Answer :-
« Chief Minister / F&I#AT [Option ID = 24505]

23) Action Research implies

waereT REd &7 3714 § [Question ID = 13711]

1. Validating the theory / f&gId &I ATleg &= [Option ID = 24844]

2. Studying the standard methods / HTeeh dTehl &T €A [Option ID = 24841]

3. Studying one's own practice to improve it / 38 S&cR STl & T fohdll & We & 38T T IETTA el
[Option ID = 24843]

4, Experimenting with the newer ideas / @7 faaRT & AT 94197 [Option ID = 24842]

Correct Answer :-
o Studying the standard methods / #Teeh Il &T 3T€TTA [Option ID = 24841]

24) In the context of email,What is ‘Spam’?

A & ol &, "TH" 47 §2 [Question ID = 13640]

1. The act of overloading an email server by using denial of service attacks / &aT gHaT H SAPR Flh Tdh SHT
AT T 3RS ¥ T FRY [Option ID = 24558]

2. A large quantity of messages that do not reach to recipient. / S #T3T & H&Lr St UTodshdT deh Tt qga?r gl
[Option ID = 24560]

3. Unsolicited advertising sent to a large number of recipients. / St TEAT H YTCARATIT T Ho¥ T TS
faa9sT| [Option ID = 24557]

4. E-mail messages that are infected with viruses / §-#Fe T2l S IIRT ¥ TehfAd &Id & [Option ID = 24559]

Correct Answer :-

« Unsolicited advertising sent to a large number of recipients. / S3T TEAT & UTCAHAT ST FS T AT
=TI [Option ID = 24557]



How do you define language, answer the correct choice.

T HT9T F1 FF IRRAT Fd &, T8 Aveq #1 s/a1e &1 [Question ID = 13713]

1. Medium to express experiences / 3{eJ8Tdl & cherd el I ATEH [Option ID = 24851]

2. Medium for self enhancement. / 3iTcd gfg & foT ATEI#| [Option ID = 24852]

3. Instinctive development / TgsT fasr@ [Option ID = 24849]

4, System of Symbols for effective communication / FHTET H9R & foIT gt T goutrelT [Option ID = 24850]

Correct Answer :-
« Instinctive development / TgsT [T [Option ID = 24849]

26) Indian Home Rule League of Tilak was launched in the year?

forerer Y st gYor wer offaT T QreTeT kT arT 4T 2
[Question ID = 13622]

1. August 1916 / 319T¥d 1916 [Option ID = 24488]
2. April 1916 / 31%eT 1916 [Option ID = 24486]

3. April 1919 / 31%er 1919 [Option ID = 24485]

4. June 1916 / SfsT 1916 [Option ID = 24487]

Correct Answer :-
o April 1919 / 3197 1919 [Option ID = 24485]

27) ICSSR stands for

ICSSR T H&YIT §- [Question ID = 13691]

1. Indian Conference of Social Sciences Research / ATHATIGR faATeT 3T T HRCT FFAelel [Option ID =
2. %:(:igi]Centre for Science and Society Research / IR =TT 3R FATST 3e[&enT=l &g [Option ID =

3. Iz:tjigi]Council for Science, Society and Rehabilitation / $TRi fa=iTet, FATST 3R Ye1dTe gRwe [Option ID =
4, ?:(Zizi]Council of Social Sciences Research / $TRciIT ATATSTh fa=1TeT & eneT IiRwe [Option ID = 24762]

Correct Answer :-

« Indian Centre for Science and Society Research / $TRei faaiTel 3R FHATST 3&EeT e [Option ID =
24761]

28) Fill the blank
is a process of Information.

Reeret Tt s
T $T TF 9HHAT &1 [Question ID = 13668]

1. CD-ROM / €Y81-T# [Option ID = 24670]

2. Books / g&cish [Option ID = 24669]

3. None of these / 378 & IS sTgT [Option ID = 24672]
4. Computers / tgeX [Option ID = 24671]

Correct Answer :-
« Books / g&d [Option ID = 24669]



29) NAAC is an autonomous institution under the aegis of

NAAC fRFfaf@d F 31eet # va Ta—Ied T¥U § [Question ID = 13681]

1. ICSSR / 3TSETHATTIR [Option ID = 24721]
2. UGC / 3.4, [Option ID = 24724]

3. CSIR / €1.ug.31TS$.31R. [Option ID = 24722]
4, AICTE / w3msdIéls [Option ID = 24723]

Correct Answer :-
o ICSSR / AEAETHTHAAR [Option ID = 24721]

30) which of the following region is in the very high risk zone of earthquakes?

T & agd 3o9 AAA a1 877 F fArfaf@a & & e @1 417 §2 [Question ID = 13684]

1. Central Indian Highland / @icer 33 g18eis [Option ID = 24733]
2. Coastal region / d<IT &1 [Option ID = 24734]

3. Indian desert / R YT [Option ID = 24736]

4, Himalayan region / fg#Terll & [Option ID = 24735]

Correct Answer :-
« Central Indian Highland / Sgel 33 gTSel3 [Option ID = 24733]

31) The force keeping the heavenly bodies in their respective place is known as:

T AT Y 39F T4 T | 1@ drel a8 & T 7 471 17 82 [Question ID = 13699]

1. Frictional / ¥a¥-He+ft [Option ID = 24795]
2. Gravitational / [¥cdg [Option ID = 24796]

3. Kinetic / 13sifea [Option ID = 24794]
4. Oscillatory / 3if&eferdY [Option ID = 24793]

Correct Answer :-
o Oscillatory / 3iT&eleiRr [Option ID = 24793]

32) Use of any ordinary telephone as an internet application is called?

geToie Uitadee T H fFa sit graRor TwIer &1 39T FeT A1 872
[Question ID = 13669]

1. Voice telephone / afad Celwie [Option ID = 24674]
2. Voice line / arad &3aT [Option ID = 24675]

3. Voice net / arad sie [Option ID = 24673]

4, Voice portal / arad gice [Option ID = 24676]

Correct Answer :-
« Voice net / arad e [Option ID = 24673]

33) Tamil Nadu coastal belt has drinking water shortage due to

affraeTs ol doc & O F arelt A Fl w1 FROT §

[Question ID = 13670]



1. Seepage of sea water / Fﬁgﬁr STer &7 =T [Option ID = 24680]

2. High evaporation / 3T arsdieror [Option ID = 24677]

3. Sea water flooding due to tsunami / =TT % HROT g T UTeiT 81X ST [Option ID = 24678]

4. Over exploitation of ground water by tube wells / FTeTehdl GaRT $7sTeT T T8I &lgeT [Option ID = 24679]

Correct Answer :-
« High evaporation / 3T arsdieiuT [Option ID = 24677]

34) Indian space vehicle Mangalyyan has been launched from a centre, which is named after

R AT ATeT FAITCATT Y T hg @ e FRAT 1T &, TS 0T A1 & [Question ID = 13693]

1. Vikram Sarabhai / fasha7 IRTATS [Option ID = 24769]
2. Indira Gandhi / 73T ameft [Option ID = 24770]

3. SatishDhawan / &cirer asT [Option ID = 24771]

4. Homi J. Bhabha / T 31, &1 [Option ID = 24772]

Correct Answer :-
o Vikram Sarabhai / fash#e IRTHTS [Option ID = 24769]

35) Fair and free election means

forsaat 3l Faa gaTa FT1 A ¢ [Question ID = 13671]

1. Transparency / 9R&f2IaT [Option ID = 24681]

2. Regional considerations / &4 faaR [Option ID = 24683]

3. To maintain law and order / &lefsl AR cFEEAT FATT IWT & ToIT [Option ID = 24682]
4. Role of pressure groups / &aTd HHg! & 81T [Option ID = 24684]

Correct Answer :-
« Transparency / 9RGRIAT [Option ID = 24681]

36) The practice of conducting a long-term, detailed study of a community is known as

forelt wageTr & Qreiepreler, Reqa sreaas & 37316 Y FT o1 ¥ [Question ID = 13710]

1. Philology / $TSTRITET [Option ID = 24840]
2. Epistemology / JTe#TerAT [Option ID = 24839]
3. Eugenics / Zeifeierd [Option ID = 24837]
4. Ethnography / sjaeifa=ire [Option ID = 24838]

Correct Answer :-
« Eugenics / sifaied [Option ID = 24837]

37) Who is the chairman of Niti Aayog?

A 3T F reyey Fia &2
[Question ID = 13628]

1. Finance Minister / fdca #3T [Option ID = 24511]
2. Prime Minister / T&ITeT #4T [Option ID = 24510]

3. Vice — President / 39-3regafd [Option ID = 24512]
4, President / Tregafar [Option ID = 24509]

Correct Answer :-



« President / Iregafa [Option ID = 24509]

38) Who was the first education minister of India after Independence?

FIAAT F 918 AR & g R 70 ey 92
[Question ID = 13689]

1. Dr.ZakirHussain / . mgﬁa [Option ID = 24754]

2. Dr.Radha Krishnan / ST.IT8IT &%uTeT [Option ID = 24753]
3. Dr.Rajendra Prasad / 31.3Tsleg waTe [Option ID = 24756]
4. Maulana Azad / RIS 31TeTTg, [Option ID = 24755]

Correct Answer :-
« Dr.Radha Krishnan / ST.3reIT &%0reT [Option ID = 24753]

39) India’s first district cooling system will come up in which of the following cities

AR ST Yga forelr eiaaer yomelt Rrafaf@a aet & @ v & 3meem [Question ID = 13643]

1. Chennai / ¥==1s [Option ID = 24572]

2. Gwalior / Farferay [Option ID = 24569]

3. Hyderabad / gexreme, [Option ID = 24570]
4, Amravati / 3G [Option ID = 24571]

Correct Answer :-
o Gwalior / Fa1feraR [Option ID = 24569]

40) India’s first 100 percent computer literate village is

HRA &1 9T 100 TN FTIT AT&R 17 § [Question ID = 13667]

1. Sasamosa (Bihar) / I (f9gR) [Option ID = 24666]

2. None of the these / 381 & 1S sTgl [Option ID = 24668]

3. Chamravattam village (Kerala) / I#R1ag# IMa (hel) [Option ID = 24665]
4. Guru Nagar (Punjab) / % #9R (9siTe) [Option ID = 24667]

Correct Answer :-
 Chamravattam village (Kerala) / 9#R1ag# 31d (FTel) [Option ID = 24665]

41) How much percentage of GDP spends on education in India?

AR # e qx S, . .37 =T gfaerd @< aar &2
[Question ID = 13648]

1. Less than 4 percent / 4 9fawd & & [Option ID = 24592]

2. 6 percent / 6 9fawd [Option ID = 24591]

3. 10 percent and above / 10 9fasd & 31f&& [Option ID = 24589]
4, 12 Percent / 12 gfawd [Option ID = 24590]

Correct Answer :-
« 10 percent and above / 10 9fa¥a & 31f8 [Option ID = 24589]



What is the % of seats reserved for admission to Private school for children belonging to EWS
category in RTE (2009).

RTE (2009) # EWS vt & waftia aoai & fore fsit wer # wder & fow smf@ra diet 1 % #2411 [Question
ID = 13716]

1. 0.15/ 0.15 [Option ID = 24862]
2. 0.25/0.25 [Option ID = 24864]
3. 0.1/ 0.1 [Option ID = 24861]
4. 0.2/ 0.2 [Option ID = 24863]

Correct Answer :-
e 0.1/0.1[Option ID = 24861]

43) What is true about education policy of 1986

1986 1 e A & ar¥ 3 F2r w= § [Question ID = 13706]

1. Education for Equality / T#TeTdT & forw fR1&Ir [Option ID = 24823]

2. Secondary Education for All / T3 & forw smeafaes et [Option ID = 24824]
3. Higher Education for All / @t & Torw 3T f2r&1r [Option ID = 24822]

4, Primary Education for All / T8 & forw grufaes f2rer [Option ID = 24821]

Correct Answer :-
e Primary Education for All / T#ft & forw grarfaes 76T [Option ID = 24821]

44) Formal Education corresponds to

3t e & A« @I § [Question ID = 13676]

1. Systematic and organized form of Education. / f&Tr T cgafeaa 31 Terfed &9 [Option ID = 24703]
2. None of these. / 33 & IS w7&T [Option ID = 24704]

3. Only Primary Education. / shael 9T2If&e f21&Tr| [Option ID = 24701]

4. Correspondence and open learning. / 9a”IR 3-ﬁTlgTs?f feretr| [Option ID = 24702]

Correct Answer :-
« Only Primary Education. / shaet 9rarf&ies fretr| [Option ID = 24701]

45) Rafale Fighter is a product of

IWh BIgeT fFHHT T 39T § [Question ID = 13697]

1. Airbus / TIX&H [Option ID = 24785]

2. Augusta Westland / 379T&dT d¥cels [Option ID = 24787]

3. Dassault Group / S8Tec g [Option ID = 24788]

4. Eurofighter Jagdfluzeug GmbH / JUHISET STaTcelotsT GmbH [Option ID = 24786]

Correct Answer :-
 Airbus / TIX&H [Option ID = 24785]

46) Identify the aim of Digital India

f2foee sf3ar & 8w +) ygmifad| [Question ID = 13647]

1. All of these are correct / 3ugsre @l §ET €1 [Option ID = 24588]
2. To ensure efficiency and transparency / HeaTal Tas IRERIT T FiATed siar| [Option ID = 24587]
3. To promote digital literacy / 3fSieer @TeRAT @7 THASA [Option ID = 24586]



4, To set-up digital infrastructure / BfScer 3raaRa=T TATRIT &HIAT| [Option ID = 24585]

Correct Answer :-
o To set-up digital infrastructure / T3fSieer 3TaETT=TT TATTAT =TI [Option ID = 24585]

47) ‘Agriculture’ comes under-

'$f" e 3iata e - [Question ID = 13658]

1. Secondary sector / ATEATHS &1 [Option ID = 24629]

2. Secondary sector is correct / ATEIAS &7 Harl § [Option ID = 24631]
3. Tertiary sector / qcitge &1 [Option ID = 24630]

4. None / s w&T [Option ID = 24632]

Correct Answer :-
« Secondary sector / ATEITAE &1 [Option ID = 24629]

48) Green Banking means —

et 3T 7 3r9F & - [Question ID = 13633]

1. None of these / & & @IS 71gT [Option ID = 24532]

2. Redevelopment of forests by Banks / Set CCIRY Gk gﬂﬁ?ﬂ? [Option ID = 24529]

3. Financing of environment friendly projects by Banks / Sfehl SaRT UaiTaRoT & 3efehel TRATSTAIT T fecTdIsor
[Option ID = 24530]

4. Financing of Irrigation projects by Banks / St gart f&farg aRATsrer3it & faeddisor [Option ID = 24531]

Correct Answer :-
» Redevelopment of forests by Banks / &t GaRT d=it &r geifdehra [Option ID = 24529]

49) At present — India is following?

TIAT & - AR o 9T 82
[Question ID = 13631]

1. Pegged up exchange rate / Tafet#r &3 sl §gT X [Option ID = 24523]
2. Pegged Down Exchange Rate / fafei@ar gX ger #X [Option ID = 24524]
3. Fixed Exchange rate / f3fRad afe#=r g [Option ID = 24521]

4, Floating Exchange Rate / Felifear fafaaar gt [Option ID = 24522]

Correct Answer :-
« Fixed Exchange rate / [@fRaa af@#ar T [Option ID = 24521]

50) The term of the Advocate General of State is ?

ST F USAFe Foel HT FIIRTT 82 [Question ID = 13675]

1. Not fixed / [ =1gr &1 [Option ID = 24700]

2.5 Years / 5 @¥ [Option ID = 24698]

3. 4 years / 4 a¥ [Option ID = 24697]

4. 6 Years or 65 years of age whichever is earlier / 6 a¥ 3T 65 a¥ & 3 it #if Tgl & [Option ID = 24699]

Correct Answer :-
4 years / 4 a¥ [Option ID = 24697]



51) Election of Rural and Urban local bodies are conducted and ultimately supervised by

aror 3 eredt TR Tt & goma Ao fre S § 3 sfae: s @t #r St @ [Question ID =
13683]

1. District Collector and District Magistrate / fSieT @erarex 3R orem AfGEge [Option ID = 24731]
2. Concerned Returning Officer / Tafara Refeter 31fA%RT [Option ID = 24732]

3. Election Commission of India / mﬁajrrq'sm’m [Option ID = 24729]

4. State Election Commission / s IeATd 371197 [Option ID = 24730]

Correct Answer :-
» Election Commission of India / #Rd T IelTd 39T [Option ID = 24729]

52) Which of the following institution is linked to non-formal system of school education?

freafaf@a & & wla o Fwur Tl Rram #r R-3itaarie yomred @ 573 82 [Question ID = 13719]

1. NIOS / T=T3ms3fud [Option ID = 24873]
2. PMAY / drueTars [Option ID = 24876]
3. NCTE / Ta.#1.81.8. [Option ID = 24874]

4. AICTE / w3msdIEIs [Option ID = 24875]

Correct Answer :-
 NIOS / TT3m$31ud [Option ID = 24873]

53) Vernal Equinox happens on

T STFaATF gaT ¥
[Question ID = 13696]

1. 20th March / 20 | [Option ID = 24781]

2. 22 September / 22 f&dsR [Option ID = 24783]
3. 23rd September / 23 TadsX [Option ID = 24784]
4, 21st March / 21 &= [Option ID = 24782]

Correct Answer :-
« 20th March / 20 & [Option ID = 24781]

54) Cellsapisa

NPT g § TF.... [Question ID = 13642]

1. Living content of the cell / SINT T Siifad @& [Option ID = 24565]

2. Living content of the cytoplasm / ®IfSeT e r Shifad areaft [Option ID = 24568]

3. Non- living content of the vacuole / Rfederr r 3R Siifaa @masiy [Option ID = 24566]

4. Non- living content of the protoplasm / WercaTs# & IR-sNfad AT [Option ID = 24567]

Correct Answer :-
« Living content of the cell / ST I Sffad @A [Option ID = 24565]

55) Ryotwari system was introduced by the lord?

TATarY gorrel fFad ganT g #1718 Y ?



[Question ID = 13625]

1. Hastings / gf&&3d [Option ID = 24498]
2. Munro / #=RT [Option ID = 24500]
3. Wellesley / dereer [Option ID = 24499]
4. Clive / FFal13d [Option ID = 24497]

Correct Answer :-
» Clive / #a13g [Option ID = 24497]

56) Hypothesis is a

IR& 9T T & [Question ID = 13708]

1. A tentative answer / T THITAd STarer [Option ID = 24830]

2. A statement of the problem / TFHEIT3iT FT Teh §3TeT [Option ID = 24831]

3. Test of methods / faf&rat &1 adreTor [Option ID = 24829]

4. A hit and trial guess of the solution of the problem / THEAT & HATUT T Teh fge 3R ERIel 37e7ATT [Option
ID = 24832]

Correct Answer :-
o Test of methods / Taf&r=T & 9reToT [Option ID = 24829]

57) National Policy on Older Persons were brought into operation in

gg safFaat 1 I Af Ht F=rerer # AT AT [Question ID = 13715]

1. 2009 / 2009 [Option ID = 24859]
2. 2019 / 2019 [Option ID = 24860]
3.1999 / 1999 [Option ID = 24858]
4.1979 / 1979 [Option ID = 24857]

Correct Answer :-
e 1979/ 1979 [Option ID = 24857]

58) National Legal services Authority vs. Union of India (NALSA) addressed the rights of which
of the following groups?

TSI FTefaAt JaT TTAFOT F117 8T & (NALSA) & frarfaf@a 7 @ e wap & sfaent #t gaifta fmar
[Question ID = 13721]

1. None of these / 3137 & &g w181 [Option ID = 24884]

2. Transgender / i@sisY [Option ID = 24881]

3. Sex workers / @&d g&HT [Option ID = 24882]

4. Injecting Drug users / 33T 3UATIThATT ST So1eFleT oTaTT=AT [Option ID = 24883]

Correct Answer :-
« Transgender / giE=isT [Option ID = 24881]

59) Inductive reasoning means

W& & 1 37 & [Question ID = 13712]

1. Using observation to prove theory / TagTa fag & & foIT 31acilehel T 3UATT =TT [Option ID = 24846]

2. Using theory to prove assumptions / AT dTAT &l ATfad Hed o folT RAGIA T 39T =T [Option ID =
24848]

3. Using theory to prove observation / 3adliehe g F¥at & forw TAgIa T 39T FHIAT [Option ID = 24845]




4, Using assumptions to prove theory / RagIa FI &g ¥ & fIT AIAT3AT T 3YFRT =T [Option ID =
24847]

Correct Answer :-
« Using theory to prove observation / 3ideileheT g Fet & forw TAgIa &7 39T1T =TT [Option ID = 24845]

60) Full name of ‘SWAYAM' is to-

"TAI FHT QA AT 8-
[Question ID = 13649]

1. Sell web based active young aspiring macro group. / el de ¥ Teréld a7 TEUTSRAT Hshl 4 [Option ID =
24596]

2. Study webs of accurate young aspiring management / T8 F58 3Tt TaRIT J3T THUTSRT e [Option
ID = 24593]

3. Study webs of active learning for young aspiring mind / T3 a8 3Tt Tl SAfo1dT BIX JaT THUTSRT AigS
[Option ID = 24594]

4. Self-web based actual learning for youth and macro group / ¥eth-de ¥ TFg3Tel wfela B JY US HAehT 4
[Option ID = 24595]

Correct Answer :-

« Study webs of accurate young aspiring management / ¥e3T J=H 3% TaIYC AT THUTS AT Feloie
[Option ID = 24593]

61) Full name of 3 Rs is to —

3RS HF QAR |
[Question ID = 13652]

1. Reading, Writing and Arithmetic / §ifaT, T8fear Uz 319Afes [Option ID = 24608]

2. Reading, rights and reconstruction / $if$aT, Tsecw T JhacareT [Option ID = 24607]
3. Reading, right and reconstruction/1T3e1, I5ed U3 fevdcarrrsT [Option ID = 24606]
4. Reach, right and reconstruction / 3@, T8e U3 JeacaereT [Option ID = 24605]

Correct Answer :-
« Reach, right and reconstruction / 3ra, T8¢ Us qhagarersT [Option ID = 24605]

62) Chandragupta II was the son of the emperor?

TEe G 77 am?
[Question ID = 13624]

1. Vikramaditya / fassATfeeT [Option ID = 24495]
2. Rama gupta / ITHICA [Option ID = 24496]

3. Samudragupta / §Hg T [Option ID = 24493]
4. Skanda Gupta / he; I[ccl [Option ID = 24494]

Correct Answer :-
« Samudragupta / §#g e [Option ID = 24493]



63) 'BetiBachao, BetiPadhao’ Scheme associated with-

" g1, A& ger’ A v 7 raR I e
[Question ID = 13663]

1. Health Ministry / Tare2g #3711 [Option ID = 24652]

2. Ministry of women and child Development / #FTEeT Td &Tel [aeh& #FATerT [Option ID = 24650]
3. Ministry of social empowerment / TTHTTSI TRIFATRIOT HATST [Option ID = 24651]

4. H.R.D Ministry / T.37R.2Y #=Te/ [Option ID = 24649]

Correct Answer :-
 H.R.D Ministry / Ta.31R.3Y #3Te1 [Option ID = 24649]

64) 'Bulletin’ may define as-

'gafee # aRenfRa frar s awar @
[Question ID = 13657]

1. Matter of public importance / TTdsifae Fgcd T fawT [Option ID = 24628]

2. Draft of law / @TsfsT &T F&lar [Option ID = 24625]

3. Judicial examination / =aTfae 9T&TT [Option ID = 24627]

4. Paper which used in secret issue / STITST Sif ol el H SEAATS 1T & [Option ID = 24626]

Correct Answer :-
« Draft of law / &IefsT T HHIGT [Option ID = 24625]

65) The main drawback of lecture is that

SATEAT &1 FET a1 I8 ¢ [Question ID = 13695]

1. The students get bored and become inattentive consequently / BT 3§ STd & 3R 3T IRUTHETTET
3THTEYT 81 ST & [Option ID = 24777]

2. The students get readymade answers and become lazy / BT3T T 381AS 3cak Aed & IR T 3T g ST &
[Option ID = 24778]

3. The students get engaged in taking notes and become tired / ST AlcH ot & TET &1 ST & 3R T T &
[Option ID = 24780]

4, The students become passive receivers and do not think / &3 AT Rftax s o § 3R Traa A8r &
[Option ID = 24779]

Correct Answer :-

« The students get bored and become inattentive consequently / &1 3 SITd g 3R 38% IRUTHTTET
3THTEYTST g1 S g [Option ID = 24777]

66) HDI (Human Development Index) is an aggregate measure of progress in which of the three
dimensions?

TSNS (AT R gawie) Wrfa & e At F @ v 8?7 [Question ID = 13635]

1. Food security, employment, income / @1eT {&T, USTIR, 3T [Option ID = 24538]
2. Health, Education, Income / Tare2y, e, 317 [Option ID = 24537]

3. Height, Weight, Colour / 3418, R, 39T [Option ID = 24540]

4. Agriculture, Industry, Services / ¥, 3T, @aTC [Option ID = 24539]

Correct Answer :-



o Health, Education, Income / Tarezy, e, 3 [Option ID = 24537]

67) About PMUY

PMUY & &R & [Question ID = 13705]

1. Reducing the dependence of poor people on wood for cooking food. / TWTAT Tehlel & ToIT ThaT U IR AT
&1 fTIAT I e &T| [Option ID = 24817]

2. Reducing the consumption of electricity by poor people. / IIe eaTT GaRT forsTell T @I Y FHH HLA|
[Option ID = 24820]

3. Accessing housing schemes of the Government / TX&R ST ATETRHRT JSTATAHT de ggd [Option ID = 24819]

4, Helping people earn more by acquiring new skills / 57T &Il Yo FTh AN Y 3 FATT F Hag e
[Option ID = 24818]

Correct Answer :-

« Reducing the dependence of poor people on wood for cooking food. / T TahTel & foIT elehsl W IR
TN S TAIRAT Y FHeT FHIAT| [Option ID = 24817]

68) What advantages to objective type test have over essay tests?

faer adiaror & avgfaes yER & Tdieror & FAT BRI §2
[Question ID = 13638]

1. They take less time to prepare / 3¢ IR 8leT H He A 91T § [Option ID = 24552]

2. They require less technical knowledge / 35137 & deheitehl AT AT HTTTSHT &ldT & [Option ID = 24550]
3. They are easier to interpret / 3eT<hl SITEAT AT 3THTT & [Option ID = 24549]

4. The sampling content can be wider / 1T |HET AT &1 Hehcll & [Option ID = 24551]

Correct Answer :-
o They are easier to interpret / 3T STEAT AT AT & [Option ID = 24549]

69) Which of the following is an informal rural institution?

farafaf@a ¥ ¥ #la vF staaRe arefior weur §2 [Question ID = 13677]

1. Family / 9R@R [Option ID = 24706]

2. None of these / 73 & @IS =Tgf [Option ID = 24708]
3. Youth club / g4 =eTel [Option ID = 24707]

4, VillagePanchayat / 3ITeT 9=mdd [Option ID = 24705]

Correct Answer :-
« VillagePanchayat / 9T 9ardd [Option ID = 24705]

70) Which of the following would not tend to increase the population of a country?

frafaf@a & @ #la or i serwean # gfe 78 Fam? [Question ID = 13679]

1. Fall in the death rate. / Hcg e # faRTae| [Option ID = 24714]

2. Increase in average age of marriage. / faaTe @ 3l 3mg # gig| [Option ID = 24715]
3. Increase in birth rate. / =8 &I # gfg| [Option ID = 24713]

4. Increase in immigration. / 3Tersfel # gi&| [Option ID = 24716]

Correct Answer :-
« Increase in birth rate. / =& &I # gfg| [Option ID = 24713]



71) Which of the following article of the Indian Constitution deals with the impeachment of the
President?

SR wiawurer &1 Arafaf@a # @ #ia a1 o wseufa F #AgfHAhr F F&fa 2 [Question ID = 13629]

1. Article 61 / 3]t 61 [Option ID = 24515]
2. Article 59 / 3teTee; 59 [Option ID = 24516]
3. Article 60 / 31Tz 60 [Option ID = 24513]
4. Article 65 / 3ie<ee 65 [Option ID = 24514]

Correct Answer :-
e Article 60 / Hﬂﬁ‘c{ 60 [Option ID = 24513]

72) Which of the following is the part of Tertiary sector?

frrfaf@a # ¥ Sl qelias 817 #1 RewT 82 [Question ID = 13632]

1. Cotton manufacturing / ure fafaaTor [Option ID = 24527]

2. Cultivation of crops / ®&@T &hr Wl [Option ID = 24528]

3. Power and transportation / fSsTelr 31k gRage [Option ID = 24525]
4. Animal Husbandry / 9[dTefeT [Option ID = 24526]

Correct Answer :-
« Power and transportation / farsTelr 3iiX gRagsT [Option ID = 24525]

73) Which of the following was a training programme for Youth?

Y 1 9feTor A farafaf@a & & i @1 91? [Question ID = 13717]

1. TCSEO / Er&@wa3T [Option ID = 24868]
2. TRYSEM / €1.31R.a18.7H.5.UH [Option ID = 24867]
3. PMAY / 91.U#.T7.a1$ [Option ID = 24865]
4, Existing / TfFa1feaT [Option ID = 24866]

Correct Answer :-
¢ PMAY / d1.u#.U.aT$ [Option ID = 24865]

74) Which of the following pollutants can cause cancer in humans?

frrafaf@a & & Fla a1 yqus A4t & FAT FT FROT a7 ¥HaT 2? [Question ID = 13674]

1. Mercury / 9RT [Option ID = 24694]

2. Ozone / 37iSiteT [Option ID = 24696]

3. Pesticide / Shresiere [Option ID = 24693]
4, Lead / @i [Option ID = 24695]

Correct Answer :-
o Pesticide / @TeaAT2re [Option ID = 24693]

75) Which one is first digital state of India.

R T ggaT R2foree s Fis7 61§ [Question ID = 13662]

1. Karnataka / @aTee [Option ID = 24645]
2. Tamilnadu / df#Ae=ITg [Option ID = 24646]
3. Kerala / &% [Option ID = 24647]



4, Delhi / f&eelr [Option ID = 24648]

Correct Answer :-
« Karnataka / @siTes [Option ID = 24645]

76) Which of the UN Agency is involved with education of the people?

YFA g A Fier A Tl AT AT Y Raw @ 3 8?2 [Question ID = 13714]

1. UNFPA / UATHHRT [Option ID = 24853]
2. UNDP / gu=isIdT [Option ID = 24855]

3. UNESCO / gsi¥ent [Option ID = 24856]
4. UNICEF / =% [Option ID = 24854]

Correct Answer :-
+ UNFPA / gQUATHUIT [Option ID = 24853]

77) Which one of the following is a non-cereal crop?

i@ & @ Fia @ v Ix-3ra1er arel Fu & [Question ID = 13702]

1. Maize / AT [Option ID = 24805]

2. Rice / drae [Option ID = 24807]

3. Barley / Sit [Option ID = 24806]

4. Sugarcane / 3T==T [Option ID = 24808]

Correct Answer :-
e Maize / AT [Option ID = 24805]

78) Which one of the following is not a major theme of new public administration?

frafaf@a & & Fla a1 731 AT wemwer 1 w@ v 78t 82 [Question ID = 13641]

1. Relevance / 9 faTehdT [Option ID = 24561]
2. Change / deord [Option ID = 24562]

3. Neutrality / 3&rTsTar [Option ID = 24563]
4. Values / AT [Option ID = 24564]

Correct Answer :-
« Relevance / 9rafedr [Option ID = 24561]

79) Which one is not considered as fundamental duties

A wdeal F v 7w o R Jg fFar a%ar 8. [Question ID = 13655]

1. To safeguard public property / Hdsiieieh Fdfce shT FI&T & foIw [Option ID = 24618]

2. To develop the scientific temper / dTfeieh TAHTT T fahI AT [Option ID = 24620]

3. To express freedom of religion &exploitation / €37 31T 2NUT T TAATAT T cTFd I F T [Option ID =
24619]

4, To defend the country / &2 T I&TT =TT [Option ID = 24617]

Correct Answer :-
« To defend the country / &2r T I&TT =TT [Option ID = 24617]

80) The National Bank of Agriculture and Rural Development (NABARD) was set up in



T F 3 areior e 3% (NABARD) #t ¥umaen #r a1$ &t [Question ID = 13688]

1. 1982 / 1982 [Option ID = 24751]
2. 1984 / 1984 [Option ID = 24752]
3.1981 / 1981 [Option ID = 24750]
4. 1980 / 1980 [Option ID = 24749]

Correct Answer :-
o 1980 / 1980 [Option ID = 24749]

81) Krishnadevaraya was an emperor of which dynasty?

Fouread fFH 97 & gATE 42 [Question ID = 13623]

1. Sangama dynasty / TITAT g2 [Option ID = 24489]

2. Aravudy dynasty / 3RTGET IreTaer [Option ID = 24492]
3. Sauva dynasty / giar @2r [Option ID = 24491]

4. Tuluva dynasty / efdT d2r [Option ID = 24490]

Correct Answer :-
« Sangama dynasty / TITHT a2T [Option ID = 24489]

82) Recently India was invited as an Observer member to

T & F HRT & T qAd8TH TGET & T H JTATIT FAT 141 41 [Question ID = 13698]

1. BRICs / Sf31R31ms&Y [Option ID = 24791]
2. OIC / 33mST [Option ID = 24790]

3. ASEAN / 3mf&=meT [Option ID = 24792]
4, OPEC / 3(rdi$T [Option ID = 24789]

Correct Answer :-
« OPEC / 30disdT [Option ID = 24789]

83) National Adult Education Programme was influenced from which of the Gandhiji’'sscheme in
TS yie et wrRiwa sa & aefish Y fFa Qs ¥ wsnfaa ar?
[Question ID = 13664]

1. Truth and Non violence / IicT 3R 31T [Option ID = 24654]

2. Nai Taleem / =18 @TelsT [Option ID = 24653]

3. Non Co-operation movement / 3THgN4T 3MTgIelsT [Option ID = 24655]
4, None of these / 35137 & 15 =7&T [Option ID = 24656]

Correct Answer :-
« Nai Taleem / @S qTeliaT [Option ID = 24653]

84) National Literacy Mission was started in —
USET | fRereT % foram ara ar?
[Question ID = 13653]

1. 14" October, 1988 / 14 3r9Fgay, 1988 [Option ID = 24609]



2. 15t August 1988 / 15 3197 1988 [Option ID = 24612]
3. 8t September 1988 / 8 f&disx 1988 [Option ID = 24611]
4. 5t May 1988 / 5 #S 1988 [Option ID = 24610]

Correct Answer :-
« 14% October, 1988 / 14 3R, 1988 [Option ID = 24609]

85) Pilot study is done to

qIIeie FEd Y STt
[Question ID = 13709]

1. Improve the research plan / THEIT & AT T Teh fge 3R grrel 37T [Option ID = 24836]
2. Collect basic data / HeT 3TehsT &I Tehd ¥t o ferd [Option ID = 24833]

3. Try the reliability of the team / Y& T faea@=izrar &r S & forr [Option ID = 24835]

4, Train the research team / 2iter &1 it 9fAT&IT ¥t & fod [Option ID = 24834]

Correct Answer :-
+ Collect basic data / HeT 3TehsT &I Usha &el & eI [Option ID = 24833]

86) Who of the following was associated with Auroville ?

AR F1 ey FAEafaf@a & @ FE¥ 91? [Question ID = 13720]

1. MalcomAdiseshiah / #ATerepter Tf3QfRIaT [Option ID = 24878]
2. ] D Krishnamurty / 3 3t agwmfr [Option ID = 24880]

3. AurobindoGhose / 3Rfsigr €19 [Option ID = 24879]

4, C.Rajgopala Chari / Y. Irsemarelr IT [Option ID = 24877]

Correct Answer :-
« C.Rajgopala Chari / €T, TrsTenarelr Ty [Option ID = 24877]

87) Panchayati raj system was started from

YT TeT SHSEAT HT AT g3 [Question ID = 13651]

1. Rajasthan / ISTEATS [Option ID = 24602]

2. Jharkhand / TR@3 [Option ID = 24604]

3. Uttar Pradesh / 3ccX 92T [Option ID = 24601]
4. Andhra Pradesh / 31T¢r 9¢er [Option ID = 24603]

Correct Answer :-
o Uttar Pradesh / 3caX 9eer [Option ID = 24601]

88) Which is the anti-coagulant substance in Blood?

T # TA-Frameeie gard Fi A §2 [Question ID = 13637]

1. Thrombin / ¥f&ssT [Option ID = 24545]
2. Globin / FeiifssT [Option ID = 24546]

3. Fibrinogen / ®sfsiaiteteT [Option ID = 24547]
4, Heparin / g9 [Option ID = 24548]

Correct Answer :-



« Thrombin / ¥fFseT [Option ID = 24545]

89) First page of Newspaper is called?

HATAR I &1 IgAT Y56 Fa1 1T §2 [Question ID = 13665]

1. Name board / @13 §1$ [Option ID = 24660]
2. Masthead / #ATEEES [Option ID = 24657]
3. Nameplate / sidacere [Option ID = 24659]

4, Skyline / TeTSaTSST [Option ID = 24658]

Correct Answer :-
+ Masthead / #T¥egs [Option ID = 24657]

90) The main source of irrigation in India is -
#Ra # =TS 1 7ET 9 §-
[Question ID = 13650]

1. Tanks /dTetel [Option ID = 24598]

2. Canals / &Y [Option ID = 24599]

3. All are correct / @3t @€r g [Option ID = 24600]

4. Wells and Tube wells / T 31X Fe7FT [Option ID = 24597]

Correct Answer :-
+ Wells and Tube wells / F9 3R 71T [Option ID = 24597]

91) The forest research institute is located in which of the place?
qT T FEAT Ry @ ?
[Question ID = 13630]

1. Bhopal / #rarer [Option ID = 24518]

2. Lucknow / eT@+3 [Option ID = 24519]
3. Dehradun / &g1gsT [Option ID = 24517]
4, Delhi / f&eell [Option ID = 24520]

Correct Answer :-
+ Dehradun / ¢gregt [Option ID = 24517]

92) The full name of 'SWOT' is to —

SWOT '&T QU ATH ¢ -
[Question ID = 13659]

1. Secure, wealth overcome threats / RFIR, dea=iaeaaated [Option ID = 24635]

2. Strengths, weakness, overcome, technique / T¢=ad, fadad, 3atea ¢F=ileh [Option ID = 24634]
3. Strengths, weakness, opportunities. Threats / ¥e=d, fd@ad, 3iadefaérea [Option ID = 24633]
4. Secure, wealth, opportunity, technique / eI, 3o, 3iTaefaéle, a=iier [Option ID = 24636]

Correct Answer :-
« Strengths, weakness, opportunities. Threats / ¥¢=2d, fd@a1d, 3iTadefde [Option ID = 24633]



93) The National Policy of Education was approved by the Government of India in the year

HRT TR GarT fre o 3 fraw i s Aifa #r A g off
[Question ID = 13686]

1. 1986 / 1986 [Option ID = 24741]
2. 1983 / 1983 [Option ID = 24744]
3. 1984 / 1984 [Option ID = 24743]
4. 1985 / 1985 [Option ID = 24742]

Correct Answer :-
e 1986 / 1986 [Option ID = 24741]

94) At which of the following Harappan sites, an inkpot has been discovered

AT IsT I T A A A T A G T AT A a$ §
[Question ID = 13645]

1. Lothal / &terer [Option ID = 24578]

2. Chanhadaro / T+ [Option ID = 24580]
3. Kalibangan / @reitsem [Option ID = 24579]
4. Harappa / gs©4r [Option ID = 24577]

Correct Answer :-
o Harappa / 34T [Option ID = 24577]

95) The scheme of Government assisting the small entrepreneurs under MSME is

THATHUAS & dgd B 3eATAAT Y Ferrar F3 arell GIFR A A= § [Question ID = 13700]

1. PMMY / fredATHaTS [Option ID = 24798]
2. NTM / wetéIuar [Option ID = 24800]

3. Jan-dhan / Sie-844T [Option ID = 24797]
4, ABY / Tdltars$ [Option ID = 24799]

Correct Answer :-
e Jan-dhan / Sie-8aT [Option ID = 24797]

96) As per 2011 census, the literacy rates in rural and urban areas of country stands at

2011 FY FAMVEAT & AR &2 F AT 3 2rgdr &1 F J1&Rar & 4 ¢ [Question ID = 13636]

1. 69.2% and 78.9% / 69.2% 3R 78.9% [Option ID = 24544]

2. 70.3% and 83.1% respectively. / %2T: 70.3% 31X 83.1%] [Option ID = 24541]
3. 67.8% and 84.1% respectively / 2T: 67.8% 3iX 84.1% [Option ID = 24542]
4, 65.3% and 82.6% respectively / &2l 65.3% 3R 82.6% [Option ID = 24543]

Correct Answer :-
 70.3% and 83.1% respectively. / F&eT: 70.3% 31X 83.1%] [Option ID = 24541]

97) Who is the head of the CBDT panel to help bring down tax litigation?



FT AHGATSAT BT HH T A 7GG FIA & TAC WIS YeTer FT 97@ et 82 [Question ID = 13644]

1. Sanjeev Sharma / Esita 2rAT [Option ID = 24573]
2. Varun Jain / g%UT 3T [Option ID = 24575]

3. K S Das / & @& & [Option ID = 24576]

4. Mohit Kumar / ®ifge AR [Option ID = 24574]

Correct Answer :-
« Sanjeev Sharma / @siia 2&AT [Option ID = 24573]

98) Who is the ‘lender of the last resort’ in the banking structure of India?

HRA F 1 o & 3fas 3UrT F1 "FHurgrar Fi §2? [Question ID = 13646]

1. State bank of India / IR ¥&T & [Option ID = 24581]

2. EXIM bank of India / %IRd &T EXIM & [Option ID = 24583]

3. Union bank of India / gfaaeT e 3{f% S8 [Option ID = 24584]
4, Reserve Bank of India / 1R et d [Option ID = 24582]

Correct Answer :-
o State bank of India / IR ¥&T s [Option ID = 24581]

99) Who is the web Inventor?

9 ATASHRF Fid &2 [Question ID = 13666]

1. Tim Berners Lee / o7 §=i¥ off [Option ID = 24661]
2. Bill Gates / foeT 3tc® [Option ID = 24662]

3. Stallman / Teter#lsT [Option ID = 24663]

4, Charles Babbage / aTe®l st [Option ID = 24664]

Correct Answer :-
o Tim Berners Lee / & s=18 oY [Option ID = 24661]

100) The government of India conducts census after every ten years. The method of research
used in this process is

HRA TIFR & G0 AT & a1E SATIT0TAT FXell §1 39 G 7 wgaFa sieqaene $ fafdr § [Question ID =
13687]

1. Developmental study / faeraTcHe 31ET3=T [Option ID = 24746]
2. Survey / @daToT [Option ID = 24747]

3. Case study / 90T 37€IT+T [Option ID = 24745]

4, Experimental / 9raifare [Option ID = 24748]

Correct Answer :-
o Case study / 90T 37€3T4 [Option ID = 24745]



